Math 1300 Section 4.1 Notes
Greatest Common Factor and Factoring by Grouping L-)

(Review) Factoring Q

Definition: A factor is a number, variable, monomial, or polynomial ethis multiplied by
another number, variable, monomial, or polynonoadivtain a product.

1. List all the possible factors of the followingmbers:

a. 12 \)2l51k16|\l

b. 32 l)z‘\_\}‘gl\g‘?ﬂ_

c.19 1,1Q

o 45| ,'b,t))q)\'() |L\b

In the above, the number 19 is an example OTRV““Q number because its only positive
factors are one and itself

(Review) Greatest Common Factor

Definition: Thegreatest common factor of two or more numbers is the largest number that
divides (goes into) the given numbers with a remeirof zero.

2. Find the GCF (greatest common factor) of thiefong numbers:
a. 36 and 54 ) ?\b SL\ 36 = ?_2- @
GCF= 205 ‘I\& Sl=7. &b

b. 15 and 60 /\ {
6CF = d(O)\S \® G%@t% \5’-%'§
Gd:_’__g’@ . @ 60 23§
d. 28 and 39 rta\Qi\‘N\& @@@
GCF =2 frme 2\ uz o

28 20 /)

o & 0 SH
et £E

2\=2-1
n2 =231

65 221
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Greatest Common Factor of Polynomials

In order to find the GCF of two or more monomials,

I.  Find the GCF of the coefficients;

Il. Find the GCF of the variables;

lll. Rewrite the GCF as a product of the GCF of¢befficients times the GCF of the variables.

Examples:

1. Find the GCF of* andx’.
Step I:  The only coefficients are 1’s, so thithis GCF of the coefficients.
Step Il: Rewrite the two monomials as productgofvithout using exponents:
X*=x X X" X
X' =X X XX XXX
Since each monomial hasin it, the GCF of the variablesx3s
Step lll: The GCF of* andx’ is x*.

2. Find the GCF oky” andx’y*.
Step I:  The only coefficients are 1's, so thithis GCF of the coefficients.
Step Il: Rewrite the two monomials as productgsodndys without using exponents:
xy* =x - iy
X5y4:X-X-X-X-X-y-y-y-y
Since each monomial haand 2ys in it, the GCF of the variablesxg.
Step Ill: The GCF oky? andxy* is xy”.

3. Find the GCF of 24y and «'y".
Step I: The GCF of the coefficients 24 and 9 is 3.
Step Il: Rewrite the two monomials as productgsoéndys without using exponents:
Xy=x:xx-x
X7y4=X-X-X- X-X-X-X-y-y-y-y
Since each monomial hasgland ly in it, the GCF of the variablesSy.
Step lll: The GCF of 24y and «'y*

Examples:
1. Find the GCF oi8x and 27x°.

GCF =19y
2. Find the GCF 0bx* and9x?.

GCF =|x*

3. Find the GCF 010x® and 50x.

CF =10x
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4. Find the GCF of 4 and 2. \4 2\ =21

6 CF ~ [Txy i/\: §/\j: 2\ =31

5 Find the GCF of X and &Y.
L\
GCF =X

6. Find the GCF of @t?"c and 6&102.

GCF -[\5q be

7. Find the GCF of 8%, 16%% and3248.

GCF=Rx
8. Find the GCF of 9x°, 16X and5&[.

GCF <[

9. Find the GCF of 8Ry?, 2'y andl(‘y3.

GCF 3 qu

10. Find the GCF of 24888, 214088 and128%b¢.

G CF=[adb
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Factoring

To factor a polynomial, try to find the GCF of tieonomials in the polynomial. Then this GCF
should be factored out of the polynomial by “unadlsiting” the GCF out of all the monomials in
the polynomial. Note that if the leading coeffitiés negative, then the GCF should also be
negative.

Examples:
1. Factor X + 14y.
Step I:  Find the GCF of the coefficients. GCHZ#) = 7.

Step Il: Find the GCF of the variable parts. Ehigrnone, so nothing changes.
Step Ill: Divide all the monomials by the GCFs aadrite with the GCFs out front:

7% 2 AT
X+ 14y = 7(7+7j =7+ 2)
Tx +\“\1
2. Factor & + 6¢.
Step I:  Find the GCF of the coefficients. GCHB5= 2.

Step IIl: Find the GCF of the variable parts. GERE) =X
Step IlI: Divide all the monomials by the GCFs aadrite with the GCFs out front:

8x3+6x2=2x2(§—); 2xj zféal_x}s) qu L\X ux

Examples: %x 6 K

1. Factor BX*+7x = ¥ KSX *_\5(3 56%
X
= XQSxF\)

2. Factor  8x? +4x ‘_-L\)( %X_ 1?\"\ |L\ )(J"&-\

3. Factor 12x” -6x° _ ‘ex'z_ ZX -’3_\

4 Factor 16x*+8x® = G%XK % u - 8>(q(2 *\(L>
\

5. Factor 12°y+2x°y* Q-X \{(/Zx,z‘{ %’KZL{Z\S
ZXZ\{ (bx D !

’“5
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6. Factor Sab+6a. = | (55 "1'65

7. Factor &bc—1zb%c. = Lt QEC ( ZQ - 3)\33
8. Factor -28%—36%°. _|_ L\Q?'L‘S ("( QEQ' 4 q)
9. Factor 12x*y°+4xy® -16x*y° _ "\X \15 &?) XB\\Z'F 5. - L\ X 41)

E)

10. Factor  —12x° +4x3 -8x% = —\_\X?' (5)( - X 4 b

11. Factor 10a°b® +6ab%c-8a%h°c? —= ZQES (BQBs n ?DC,_ L\Q%C?

12. Factor y(x=1)+6(x-1) - (x _\5 (7 .‘.6>

13. Factor x(y+2) -z(y+2) = (\' -\-2\ (\K _’13

14. Factor Mﬂl(y—z) =[2.y (\1 —bki_ ¥ 'b;q




Math 1300 Section 4.1 Notes

Factoring by Grouping
If a polynomial contains four or more terms, it ni@yhelpful to put the terms into groups of two
and factor out a common factor from each of thesagms. This is called grouping

Examples:
1. Factoncy + 6 +I33PH 18]
Step I:  Group the terms so that each group slzacesnmon factor:
Xy + 6+ Xy + 18 = (Cy + 6 + (° + 18))
Step Il: Factor out the common terms from eachugro
(0Cy + %) = Xx(xy + 6)
(3" + 18)) = 3y(xy + 6)
Step lll: Rewrite the polynomial as the sum of thetored groups:
Xy + 6+ Xy + 18/ =X(xy + 6) + J(xy + 6)
Step IV: Factor the resulting polynomial from Stdp

X(xy + 6) + J(xy + 6) = ky + 6)x + )

2. Factor & + 3¢ H2x+3
Step I:  Group the terms so that each group slsacesnmon factor:
2¢+ 3¢+ 2%+ 3= (2 +3A) + (X +3)
Step Il: Factor out the common terms from eachugro
(2¢ + 3¢) =x%(2x + 3)
(X+3)=1(x+23) (Note: There’s no common term, so the GED.)
Step lll: Rewrite the polynomial as the sum of thetored groups from Step II.
2¢ + 3¢ + 2+ 3=x(2x + 3) + 1(X + 3)
Step IV: Factor out the resulting polynomial fr&tep Il
X(2x + 3) + 1(X + 3) = (¢ + 1)(X + 3)

3. Factor & + 3¢ 4=

Step I:  Group the terms so that each group slsacesnmon facto§€
3+ 3¢ -4k —4= (38 + 3O) + (-4x— 4)

Step Il: Factor out the common terms from eaclugro
(3¢ + 3A) = 3¢(x + 1)
(-4x—4) = -4k + 1)

Step lll: Rewrite the polynomial as the sum of thetored groups from Step Il.
B+ —A—4=3(x+ 1)+ (4k+ 1)) = 3(x+ 1) —4k+ 1)

Step IV: Factor out the resulting polynomial fr&tep IlI:
(x+ 1) — 4k + 1) = (B¢ -4k + 1)
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Examples:

1. Factor & + & +I5202HGE" §
g (6552) + 2b(a%2)

> (Qﬂb@\%&ﬂ
2. Factor @+ a%y HAXEH)
: 02(3)><+\B-L\ (%»(-»\b
> (Bx*‘D(GZ*‘% = (?3)( ﬂD(—Q—: 2)(at2) E

3. Factor @x+ 6xb +(ICEYFIL0/6)

6x (o) +\01(Q+E\
(Q+D(éx +\Oj) = 2(ow\>§ (BX*B\D




